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1.

2.

3.

4. Which Indian astrologer is known as ‘Sarva
.Siddhanta Guru’ due to explanation of Polish

5.

CALT -1

Part - l/smt - |
General Studies /M= J&TH

Which one of the following is not mgtched
clgrrectly ? -

Kashmir ©

(c) Lavani - Maharashtra
(d) Sohar - Uttar Pradesh
Which one of the following pairs |s not
correctly matched ? I

(River) ('rributaﬁeg;i
(a) Sabarmati - Watrak f;,
(b) Krishna —  Pravara 7 |
(c) Godavari —  Sabn (0
(d) Kaveri —  Bhavani

Which one of the following plateau is
considered as inter-mountain plateau ?

{

[ @) Tibetan Plateau lﬁhﬂ C:l
(b) Arabian Plateau -

(d) Brazilian Plateau

7O

(c) Indian Peninsula Plateau

R
7=
and Roman theories ?

(a) Brahmagupta  (b) Aryabhaita
(c) Varahamihir (d) Latdev

S
What is the number that comes next in the
following sequence 7 El«i[E] Qﬁ‘
' o
2,5,9,19, 37, . ‘
(a) 74 (b) 50

@

6..

: Y
In which city National Institute of Agricultural
Economics and Policy Research ss@cated ?

B NewDehi] () Lucknow:=

(c) Kamnal (d) Hyderabé'a

\w‘".:f

*2%

. frafafes § s-w gt T 2 2

(@ i) (&)
fatr - S |
7o) =0 = T A HIHI
(c) wmait - TR
@aR . - IW W

2. Peffer i d - ad gl 7 & ¢
) (v )

(a) TTeREA! - =TF
CE . |
(c) el - mEl
(d) R - Tt

3. frafafes veri # & 58 3iE: vadE R 7
ST ] 7 EHE
(a)ﬁammﬁﬁ

* (b) 3WEN Y8R
(c) W TEEdE B8R
. (d) STefferEA 81

4. Tro uydm @ne e = dfem 9 I
gl & = S wAw 3% e e T
5 TR ?

(a) SE (b) Imivg
(c) wTEhifiR

5. ug e w & 5 Frafifen sigpha & a
et ? >
2.5,9,19,37, .

(a) 74 (b) 50

L@

6. T Hiy i v At sgeEam vwE
mifREt?

=] o
(c) T (d) ‘e
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7. 31,250 amount to X 35,152 at a certain rate
of interest in 1%z years when the interest is
calculated half yearly. What is the rate of
interest per annum ? =lsis]

~(a) 6% (b) 4% pifeE
(d) 10%

8. Asoka is mentioned as ‘Dharmasoka’ in~
which inscription ?

[I“Taﬁ)Ii Sarnath inscription of Kumardevi §
(b) Rock Edict XIIlof Asoka EIAE . .
(c) Maski Edict of Asoka B -
(d) Junagarh inscription of Rudradaman

9=~ My brother is 582 days older than me
... where as my sigter is 75 weeks elder
than my brother. If'my sister was born on
Tuesday, then on which day of the week |
was born 7
(a) Tuesday

(c) Sunday

(b) Wednesday . -
l (d) Thursday '

Nz
s

Lo

the Rajya Sabha ? ,

1. It cannot be dissolved. LAt

2. It has a term of 5 years.

3. One third of its members retire after
every two years.

4. lts member shall not be less than 25 5
years of age.

Select the correct answer from the codE;
given below : ﬁu

) wzaas O

(c)2,33nd4 (d) 1,2and 3

11. Which country hasrsigned a formal MQU to
join Shanghai Caoperat:on OrganMn
(SCO) in 2023 ? :

(a) UAE (b) Iragq
(d) Israel

CALT -1

7. T == A XA T 31,250 h oA 199
1 335,152 % T & SEh! SIS Wia SHE] Se
FTaT & | TS oS W T |
(a) 6% (b) 4%

(d) 10%

8. mm@ﬁmwaama
T 7

[ o) et = o v |
(b) TN H AEA! eI -
(c) ¥9iI® I U=hl B .
(d) TSR T EAFTE AleE

9. AU Wi gId 562 7 wer & weufs 70 vww W
*  9E @ 75 gwEEe § | 3R A 5w w 5=

WITER H §A U1, A W TH 9E F 5
gemean ?
(a) TTEER (b) gEER

40. ffafes 4 @ =9 9w & foww 4 9=
TE R 7
1. 9% 9 7€ H ST A B | *
2. FEH HEAFA ST H AL |

3, T 3§ 98 W1 3% U fogs Sesl &1
R GHT B ST # |

4. 39% 9e9 2594 @ 0 Y & T8 B |
Rt REIasdi I TR :

(b) 234
(d) 1,233

) 2 334

ﬁm%mﬁzozsﬁﬁsrréusﬁnm(@
maﬁ)ﬁmﬁaaﬁ%m@ﬁwﬁ%
FEiT I AR Y R 7

(2) 1.%-

(b) T
(d) =S

s PE
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12. Consider the following evenis and arrange
them into chronological order.
1. The beginning of Gupta Era
2. Ashoka’s invasion on Kalmga
3. The beginning of Sakatra =
4. Alexander’s invasion on india

Select the correct answer using the codes

giverPbelow : ElE .
Codé e 2
(@) 4,2,3and1j (b) 4,2,1and3
{c)2,4,3and 1 (d)324a;1d1

13. When Kisan Mitra Yojana was stai:ted in
UP.?
(a) 28 June 2002
(c) 18 June 2003

I (b) 18 Junei2601 !
(d) 18 June 2004

14. Which of the following statement is
cqrrect ? *
(a) Silver dtsplaces copper from egpper
sulphate solutlon L2

(c) Zinc d|spiaoes copper from cop’per
sulphate solution

(d) Copper displaces iron from iron (in

sulphate solution

{5. Value of J_—T Jﬁ a(‘

1
E4E o 3
e

© % @
© & e

16. Bailadila mine is famous for which of the
following minerals ?

@ o ore)

(b) Mica
'(c) Manganese

CALT -1

12, FrefufEs Tewet ® R fifvm o =

4. Tt o1 WA W SATHAY
; 49 Ry 52 § 78 s gRY

e :

‘ (a) 4,2, 331 (b) 4,2,13R 3
(©) 2, 4,33 1 (d) 3,2, 43N 1

13, sn.dfrmm T s e @ ¢
(a) 28 S 2002 (b) 185 2001\

(c) 183 2003 (d) 18 <[ 2004

14, T T A ST FF AL B ?
. (a) B, FI getbe & U @ HIR B
. Toerfe wagR
(b) TR, asafsrmﬁmssannaa]
L ¥fomm o frenfe e g
(c)ﬁm,mm%aﬁa%ﬁmaﬁ
fereenfa = @
(d)w,m.(ll)aﬁz%aﬁa%mﬁ
Rreenfie e B

16. aam@mﬁw%%aﬁﬁﬁmaﬁa%m
g ® ?
Fa)a’]%aﬂﬂ
(b) 319
(c) B

(d) None of the above

@ TgmAAFEE :
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Consider the following statements regarding
National Food Security Mission (NFSM) and

‘select the correct answer from the code

given below :

L NFSM was launched in 200?5-2008 o
increase the production of dﬁe wheat
and pulses.

2. NFSM is being mptementedtrom 2014-15
in 623 districts of 28 states.

Code :

(a) Statement 1 is correct and Staternent 2
is not correct

(b) Statement 1 is not correct aﬁtt
Statement 2 is correct &~  °

(c) Statement 1 and Statementlé both are

not correct e

®

| (d) Statement 1 and Statement 3 both argi
correct [ElHE ©

18.

18.

Which of the followmg country sngned a
memorandum of understand!qgw:th Indian
government in the Tield of MeﬁTeai Product

i'_..,

Regulation in‘August 2023 ? =

(a) Srilanka - (b) Vietngdm
(c) Nepal ‘,‘ (d) Suriné’ﬁtei

Arrange the following agricultural commodities
in descending order of their share in India’s
total agricultural export in ftﬁ‘ﬁnmaLyear
2022-23 7

i 1
R
o -

1. Spices B

_ 2. Coffee ;j;
~ 3. Rice |
4. Tobacco
Select the correct answer using the code
given below. A
Code : ' jrﬁ
(@) 1,3,2,4 (b) 3,1, %:;4 -
@ 1,2, :,;;4

17.

CALT -1

T g g EE (NFSM) & ded &

Fefafes FoF W ReR fivm 7 = e

™ % T T W ghT

1. NFSM 2007-2008 & & foram ma forgem
I5e¥T =, g a°T Gl T IS el

o7 | '

2. NFSM, 28 T=a1 & 623 Rrel § 2014-15
dwm e | EHE

- EheE

(a)FF 1 Tfigam I 2TEa e
(b) FY 1 TToTd B WA HYA 2 TE ®
(C) % 1 7T FUF 2 Q1 o F

fos 1,4;21 ‘

*5%

| (d)mtwmzaﬁw%I
18. 3°TEI 2023 7, ﬁn%@aﬁﬁﬁméwﬁ-ﬁ%m
ez YRET 3 851 3 T ST 5 W
TR R R 7 - .
(a) St (b) e
i
19. ol od 2022-23 % wra & g1 B Fafa &
frfafen N SRt i 7% 39 F FgER
Ted 9§ sEteE i | 4
1. 7@ g% _
. 2. ®WH -
3.9
4. TR
= fow @ e & ¥ I = AR |
- g )
(@1324 (b) 3,1,2,4

(d) 1,2,3,4
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20. Arrange the revolts chronologically and

select the right code. [EHE

1. Muzaffar Nagar Revolt

2. Saharanpur Revolt

3. Bagpat Revolt
4. Aligarh Revolt

Code :
(a) 1,3,2, 4

[©37.42 I

21. In a rectangle, if length is increased:

(b) 2,4,1,3
(d) 4.1,2,3

by3m

and breadth is decreased by 4 m, its-area
iSreduced by 72 m2. If length is reduced by
1«m and breadth is increased by 4 m, its area

is increased by 88 m2. The sum of its length

and breadth is %
(b) 44m
(c)42m (d) 41m

22. Which of the following is not cotractly
maiched for the highest BCCl earnings
between financial year 2018 to financial year

2022 7

_ (a) Revenue shares of ICC BoA

(b) Funds or grants from the mimstryﬁ
youth affairs and sports 'a_;f

(c) Sponsorship deals EE ,;;

(d) Media rights : -

-

23. Which one of the following is not correctly
matched ?

(Endocrine glands) (Hormones)
(a) Adrenal gland — Glucocorticoids
{b) Testes — Luteiniging™

Hormone ¢ }
() Parathyroid gland —  Calcitonin_
(d) Pituitary gland “—  Somatotropic .
.*  Hormone ‘i::*‘i

CALT -1

20. Frafafiea REE = SEEFAHER =afRE ST
TR EHF AR |
1. GeTwR TR e
2. mE R fgre
3. A RRE  meae
4. Freie g -
T
@1,324

21, feft o B wwrd 3 #. wed wn <
47, =0 T Y T Saher 72 W2 & ST
£ | 3 o =g 1 W W e iR e
47, 921 Q 35 2% 88 W2 wed § | TG
6 TETE ¥ 9ISk B AT R

o .
(c) 4241. (d) 41

20 Ao i s . @ @ 8. H *dm
¥ 2018 & 2022 & 9=y Aftrman FUE ¥

wé gafea T R 7

(a) I, F Tom # wriicd
E(b)gmmﬁaﬂt@am%ﬁﬁm aaaﬁl

(c) FrESH dig

(d) Hifean R

03, Frefufes 3 3 a o gRm T 7
(ia: T a2 (zwi=)

(b) 2,4,1,3
@ 4,1,2,3

(a) et Tl R IEIITE b
(o= B i |
R S
(d) s P —  SEdRe EE

*6%
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24. Find the total number of triangles in the given

figure.
L &
(a) 24 1 ) 28 ]
(c) 20 (d) 18
25. Which of the followi:ng is 2 warm ocean

current ? EHE
(a) Labrador current

- 0 antic current f i

(c) Canaries current
(d) None of the above

26. Georgi Gospodinov received the 202
international ‘Booker Prize’ for the
following book

a) The Physics of Sorrow
(c) And All Turned Moon
(d) Tomb of Sand

27. Inwhich place the convention of revoluti%}iéry
young men was held in October 1924, where
‘Hindustan Republican Association'{was

form&d 2 ElE
(@) Lacknow  f (b) Kanpu
(c) Allahabad (d) Delhi

28. Ifx+y=7and2x-y=8, then y—xisé@a!

(b) -2
(d) 3

CALT -1

24, & ¢ iy # Brgsl 6 o e T
i |

@ 24 (& 28] -
(c) 20 (d) 18 -

25. frfafea & & i wEmTR a0 BE-E § 7
(a) SFTER T [E] (]

((b)aaﬂmﬁmamm
(c) = T
(d) 374F § & w7

26. Siell TGS I 2023 H FGEE TR
R fhe g & fae fgrmn ¢
(a) &1 Tfsea 1% §R/Y

[Oe=e=]
(c) W 31l THE T
(d) Tr= 3ATE &=

27. JEgeR 1924 # wif=erlt ganedl =1 adie e
g g1, T g Tafewe wefkee
=1 gy fomam T ?
(@) v .
) smEERe (d) Tl

28. W x+y=73M2x-y=87 y—x&F s
B

L

= o
Y (2 3

) *7T%



et

29. An electric bulb is rated 220 V and 200 W.
When it is operated at 110 V, then power
consumed by it will be
() 100w EME
(b) 150W
(c) 75 W

30. Which of the following states does not share
~ border with Bhutan ? “‘

(a) Aruachal Pradesh
':
| {c) Wst Bengal

(d) Sikkim

31. Match List —1 with List — Il and selett the
correct answer using the code given ® be!ow
. the List. . ~
List-1 List -:ﬁ
A. Bhatkhande Sangeet 1. 1926
Sansthan
B. U.P. State Lalit Kala
Academy
C. U.P. Sangeet Natak 3. 1963
Academy - +
D. Bhartendu Natya
Academy

2196‘2

32. How much amount allotted by Central
. government for Pradhan Mantri Krishi_ -
Sinchayee Yojana for the period of 5 @ars
(2015-16 to 2019-20) ? &

L3

(a) 60,000 crore (b) 75,000 cro
(c) T 100,000'croreg (d) % 50,000 croté

CALT -1

09, e firee wew w1 JigHATH 220 V 3R 200 W
$ | vE R 110 VR T=ITHE % § 0 W
ZrT SayFa Wl B
(a) 100 W
(b) 150 W
(c) 75 W

0. PR # & fea Tsa 6 @ e § T
Pt 2 7 El4E
(a) Wmm

[ O) P |
(c) afFem &
(d) Tafawm

31. @-laﬁaﬁ-llﬁgﬁ%ﬂmw@ﬁ
%ﬁ%m@@ﬁaﬁmﬁgﬁm.
-1 g -l
A, V@R T T 1. 1926
B. 3.9. TS @i wenl a2, 1962

C.3.5. Tifiq e STHIGH! 3. 1963
D. WG FTe ST 4. 1975
we:

(a) A-4,B-3,C-2,D-1
(b) A-3,B-2,C-1,0-4
(c)A-2,B-3,C-4D-1
r{d),A-*i,B—-z,_C—&D—J
32. m@mm%mmmas
- % & 3@t (201516 F 2019-20) &Y fepeet
TRy FrEfed A ot ?
(a) X 60,0005 (D) % 75,000 'S
(c) T 100,000 FS | (d) ?50000@

*8%
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33. Which one of the following pairs is not
correctly matched 7
institute
(a) Indian Grassland and
Fodder Research

Place . -

Institute ~ Lucknow*
(d) Indian Institute of
Sugar Technology — Kanpur

34. in gamma-ray emission from a nucleus _
(a) Only the neutron number changes'

(b) Only the proton number'changes *

(c) There is no change in proton numb .

and neutron number 1® |

(d) Both the neutron number and proton
number change

35. Which Indian player has won the doubles
title in the women’s tennis hard court e&LEnt
in Spain in August 2023 ? [ElgifE

(a) Riya Bhatia - [=
(b) Karman Kaur Thandi
(c) Ankita Raina

' (d) Prarthana ?hombare]

36. With reference to the Milk Day in india whgch

1. It is celebrated on the birthday of ng

Dr. V. Kurien. f
2. It is celebrated on 26™" November eéggry
year. o

Select the correct answer using the code
given below : @EHE " -
Code : m ey
- (a) Both 1 and -
(b) Neither 1 nor 2

(c) Only 2 .
(d) Only 1

CALT -1

33. = i # @ w-w g ud gafem T8 § 7

10 o) ==
(a) W SRS T =W
A - g
. § () HERH - RS |
(c) = ST
e N CEE
(d) ReT ST TETehl
e - ®AR
34. T TS B MHT-TH I B
(a) ot g4 96T SEE B .
(b) e W HEAT Seer & i
‘(c)shmmaﬁt:gnmﬁaﬁéwﬁaﬁ
L & g &
(d) =7 S SR e T gl s Wi §

35. 3Ra 2023 & & ¥ aften A TR we
T frm e faedl & e Reae s @ 7

(a)ﬁmmﬁm: 2’5@ *’“
(b) =T =R ¥iE
(c) 3ifFa @
r(d)meﬁﬁﬁj
36. wRa § g4 faw % = 4 Frafofes i &

dSm-mad /8 7
1. T8 =1, . S F ST W Fmn

T g |

2. 9% fqad 26 T Wi T @R |
2 fer T 52 | v W AT |
R - "
ITEEEE ) .
()T 13adi2

(c) e 2

(d) e 1 ~ - *
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37. The digit at the tenth place of a two digit
number is 3 less than the digit at unit place.
The number is four timesithe sum of the
digits, then the product of the'digits is

' (@) 24 (b) 16 :
" (©20 @ Noneofthede |

38. A ball is thrown at speed of 80 m/s in a
direction 30° above the horizontal. The
time taken by the ball to return to the same
level is (Take, g = 10m/s?)

(a) 6s EHE

:
o

" ¥
39. The Indian National Congress Session of
1908 was also known as

(a) Bombay Congress
(b) Moderates Union

[0 Wefia Congress |

(d) Surat Spiit

40. Consider the followjng paﬁZfB of numpbers :

g8 10 15 13
8 5 7" 4
4 8 8 8 N
& 1 2 17 <
What is the number at quéstion mark (?)
position in the above paﬁe;% -y
i
(a) 21 (b) 23
co
é N

-

41. Which of the following cour% is landlocked
country ? A -

a) German (b) Belgium
@ o

-

.7 (@20

&

CALT -1

37. 2 3P| I T TS $ R U T FH TR
WA IH A 3FH L | T, I & g A
IR AT & @ SR H OGS B -
(a) 24

-

38. W T faw & 30° FW 80 m/s H 7y F Hhi
St & | 7 W oHE TR W Ses § 969 e
(g = 10m/s2¥)
{a)6s
(c)4s
(d)2s

39. I¥ 1908 % WRdW™ UKH =g REw= =i
om it am o ot S S o 7

(a) or= ww  EHE
(b)mﬁé‘ér
'l(c)ﬁﬁm_a?iﬁ;'
(o) T T
40. wemeT & Fefafe wiee w few it
g8 10 15 13 .
6 5 7 4 ‘
-4 6 8 8
6 1 2 17
I wiowT # TEEES (7) F ™ W
H-df g@7 et ?
(a) 21 (b) 23

(d) 17

41, ﬁmmaﬁéa%r-miﬂm%ﬂ% 2

(b) sfe=m

(a) St
ST (d) Gz

W .




42. Which institute recently developed macro/
micro porous ionic organic material to
remove pollutants from water 7 o

(b) IIT, indore
(c) 1ISc, Bengaluru
(d) IIT, Delhi

43. Identify the correct chronological order in
which the following states were created in
india from the code given below : 3

1..Andhra Pradesh 2. Himachal Pradesh
3. Haryana 4. Sikkim

Code :

(a) 4,3,1,2
(b) 3,4,1,2
Cc) 1,9, 2,
(d)1,2,3 4

44. Which one of the following |s not con:ectly
maiched ?

(a) Chaiti — Rohilkhand

K3 ‘n = Awad m
(c) Virha - Purvanchal
(d) Aalha - Bundelkhand

45. Which one of the following pairs is not

correctly matched ?

. District ODOP

(a) Sambhal - Mint

(b) Mainpuri - Garlic
I(c) Lalitpur - TOmatEL

(d) Prayagra] - Guava

46. Which of the following is not correctly
maiched ?
(Cattle) (Breed)

ua) Sheep -  Marwar

(o) Bufalo - Murrah

(c) Goat " _  Barbari

(d) Cow - Gangatiri

CALT -1

42. T @ H form weon 3 oFh @ vl M weR $
o wF /g st sEts wd ek

R 7 e
l ) . A, T 3. AN, ;
. (b)ané 3. &, TR
(c) 3%, 3T, wEEh., ST
(d) 318, =iE. &., Reeh
43. WRa # frefaied T % S9N % 98 Heree
it veer A R T g2 @ A |
1. 3Tig wom 2. fea=w mw
* 3. gREmn 4. B
5. Pe: C &
(@) 4,3, 1,2
(b) 3,4,1,2
f_—(c)1,3,2,4]
(d 1,234

44, frefafea § 3 S-a1 PRE T £ 7

ua)%?ﬁ —?W%
NESUEEELE Ees

) frm - e
() seE - gREEE
45. - e gt § ¥ H-a1 T T gk
T .
Rren qmﬁm‘r@m
(a) v - T o
(b) A7gd 5
K o )
(d) SRS - IEe
46. TrafeiRea % & sH-1 ot PR i & 7
(w) ~ . (wnfa) '
fos - w=9]
(b) ¥ -
(c) s - ¥ =l t
(d) T =% i *



47. If LSIXVC is the code of Mumbai, then the

code of Delhi is

(8) GCIKG (6) cCIDD }- -
(c) CDKGH (d) CCIFE °

48. Which one of the following is no‘ﬁ%"&orrectly

maiched ?

Cotton Textiie Centre State

(a) Bhilwara ~ Rajasthan

(b) Sangli ~ Maharashtra

(c) Hisar = Madhya
Pradesh §

(d) Phagwara - Punjgh’

49. Match List — | with Ligt - Il and choose the
correct answer using<4he code givenbelow

the lists. [El4[E
List-1 [= List -l
{Natural source of (Aciil) ™
acid) - =*
A. Curd 1. Oxailcva id
' B. Ant sting 2. Lactic amd
C. Tomato 3. Methanoic acid
D. Apple 4. Maleic acid
Code :

@ A-2,B-3,C-1,D0-4
(b)A-4,B-1,C-2,D-3
() A+2,B-4,C-1,D-3
(d) A<2,B-3,C-4,D-1

50. Who was the ﬁrst Nizam of Hyderabad ?
(a) Asaf Jah Bahadur Bl
:-,._: E
{(b) Muhammad Shah

ﬁ:) mmheorii ;J .

(d) Nasir Jung

S
= v
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47. I Mumbai % fAT LSIXVC e &, @ Delhi
% fog g2 gFm

(a) CCJKG & cciop | i
(c) CDKGH (} CCIFE
48. Fefofe §  w-w w gARm TS R 2
T g T
(a) Heamer - TSN
(b) STt - WEE
[OF ]
(d) BTaTET - 9w
49, a@-laﬁ@-llﬁg&l‘ﬁaﬁﬁqmaﬁ%
ﬁq@@%aﬁrmgﬁql =
T -1 T -
(are =1 o Eia) (30z7)
A @t gl mmm
B.ﬁ%wm 2. dffes s
C. TR 3. AT e
D. 3§ 4, B I

E(a)A-Z,B—3,C-1,D-4
() A-4,B-1,C-2,D-3
(c)A-2,B-4,C-1,D-3
(d) A-2,B-3,C-4,D-1 .

50. RUETE %1 YuH fiom s o1 ?
(a) I STE SR/IGY
(b) ge=E T -
(c} 39S WE — |
(@ TS

®i2%
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Part - ll/am - i
Town and Country Planningm@mﬁﬁm

51. Sir Patrick Geddes came to India for the
first time in the year of

o 1850
(c) 1908 (d) 1875

52. National Government Agencies, which-
provide fresh aerial photography offjcial
are

(a) Indian Air Force (Through Survey of
India)

(b) Air Survey Company, New Delhi
(c) National Remote Sensing Centre, ,

Hyderabad H[E
l‘ (d) (a) and (ci onlyﬁ

53. Possible Proxy indicators are used during
indirect inspection. To know ‘Prosperity’,
what will be Proxy Indicators ?

(a) Number of Petrol Pumps
(b) Private Car Ownership N

c) Type of Commercial stores
(d) (a) and (c) only

54. As per URDPFI Gundellnes time frame
Regional Plan is

(a) 20-30 yrs. (Review Every 5 yrs.)

(b) 5-20 yrs. (Review Every 5 yrs.)
mym

(@) 20-30 yrs. [eige I

“In urban transport sector SLB means =
(a) Service Level Benchmarks =
(b) Standard Level Benchmarks - .
(c) Station Level Benchmarks
(d) System Level Benchmarks

56. Plan of the Jaipur city as built by klng
Sawai Jai Singh was based on NI

(b) Swastika Pattern
(c) Padmaka Pattern
_ (d) Dandaka Pattern

57. Choose the correct option for the following :
Municipal Govemance in India was first
introduced in 1687, with the formation of the

t(a) Madras Municipal Corporation
(b) Dethi Municipal Corporation
(c) Bombay Municipal Corporation
(d) Calcutta Municipal Corporation

58. In which year ‘Integrated Subsidised
Housing Scheme’ was formulated ?

(a) 1972 (o) 1992 ElAE
(d) 1960 E

e’

59. Legacy waste refer to

(2) Waste dumped over years of §
settlements

(b) Building and construction wastes only

(c) Hazardous waste from medical and
health care only

(d) Waste derived from industries only

60. For MRT (Mass Rapid Transit) option

for BRT (Bus Rapid Transit) the city

requirement is ,

(a) When more than about 100 buses
per hour per direction (bphpd) use the
busway

(b) Cities with a medium to h:gh densnty

. urban area
™) Both (a) and (o) |

(d) None of the above

61. Theory of Alfred Weber is for
(a) Locat:on of gardens
(b) Location of commercial business dlstnct
A least cost theory of industrial location
(d) Location of commercial growth centres

T w13k




82. ‘Finger Plan’ concept.of urban planning was
initially adopted in which of the followmg
cities, choose the correct option :

(a) Paris '

[EHE

(d) New York

63. Interpolation is made possible by a
principle called
(a) Thematic Auto-correlation
(b) Thematic Auto-correction
(c) Spaﬂal Auto-correctron

64 F}_eglonal plans oouid be classified i in_
the heads as — Administrative Reg;ons,
Ipvestment Reglons and Special Reglons
Special Region are sensitive to '
{(a) Environment Aspects
(b) Socio-Economic Aspects

L (9) Both (a) and (b) 1

(d) None of the above

65. As per Indian Road Congress Standards, the
minimum width in metres of a two-!ane urban
carriage way without a raised kerb is i
() 65mEHEE  (h) 85m

| (d) 6m

86. Which of the following is not one of tife
3 major functfonal types of towns as «
classified by Ashok Mitra in his “Triangular
Method” ?
_(a) Trade and Transport Town

B s
E%

(b) Administrative Town
(c) Service Town
(d) Manufacturing Town

CALT -1

67. According to the 74t CAA 1992, which
urban local body would provide for
development in the “Transition Areas’ or in
areas which are in transition from a rural

- area to urban area ?
{a) Municipality
(b) Gram F‘anchayat

kS -

] %

(d) Mumclpal Corporat.on

68. A biological process by which nitrate is
converted into nitrogen gas is called

(2) Nitrification El[E

~ (b) Oxic s :
[ (©) Denitrification {
(d) Anoxic

69. ‘Town and Country Planning Organisation’
formulated the model town and country

planning law in-the year of -
(a) 1992 - (b) 1972 -
I (c) 1960 (d) 1980

70. The recommended ECS for HOTEL
(Commercial Centre Activity-Land use) as
per NBC is = L
(a) 2 ECS/100 sq.m. of floor area
b) 3.0_581100 sq.m. of floor are?i]
(c) 4.8 ECS/100 sq.m. of floor area .
(d) None of the above .

71. Which among the following is used as
. a coagulant for water coagulation in the
. treatment of water ?
(a) Copper sulphate
(b) Zinc sulphate ¢
(c) Magnesmm sulphate
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72. The author of the book “The Culture of 78. Scour valves are provided at
Cities” is (a) Foot of rising main along the slope to
prevent back running water

(a) Taylor G”ﬁ@d " (b) Every summit of rising mains

c) Every depression and dead ends to .
drain waste water that may collectthere

d reet comners.io control the flow of

(c) ArthurlGaIst@ﬁ;
(d) Patrick Geddés

water .
o a'rea e desigr.matnon Prov»dea 79. Which treatment is used o remove
to area which has very diverse yet fragile “Hardness” in water ?
Ecosystem. Westem Ghats is one of the (a) Chiorination El(El
ecologically senshye areas in the country. (b) Aeration  [&

.:1_ (c) Coagulation
: ' everse Osmosis §

. (c) Socio Econdrhic Sensitive Area 80." Which one of the following pairs (Measures
. — Statistical Measure) is most correcfly
matched ?

74. Theory of ‘Social Values in Planning’ was (a) Measure of Relationship — Covariance
proposed by (b) Measure of Skewness — Kurtosis

B (c) Measure of Dispersion — Median
| tein, H
) SRerence: © o (): Hocseremy: (d) Measure of Central Tendency — Mean

(c) Patrick-Geddesf (d) Walter FireT.l Deviation

* bﬁ*“::‘ * .
75. The physical Iir\%n::@tion to growth 81. Anisobar is a line which connects points
encountered by‘towns are called below the ground surface at which
(a) Backlash (b) Trickle-Down (CHMTEEL L AT
elevationis'varying *
(¢) Threshoid (d) Slack ElAE (c) The settlement is same
. =i oty
76. Woonerf is N (d) The local ground elevation is same
(a) Sanitation system element 82. As per URDPFI guidelines, how many
(b) Fumiture detail Equivalent Car Space (ECS) will be
h - arki . . a
(o) Speed broakep clement __required for parking ﬁ.ﬂy six (56) bicycles 7
s e : (a) Seven ECS
(d) Pavement pattern () Eight ECS
5 e (c) Six ECS
77. Which of the following is not a method of (d) Five ECS

property valuation ?

E(a) Valuation wim 83. “Dead Slow™is a '
— .

. (b) Direct compaison with capital value (a; ::eg;":::::y ssi?gl:\
(c) Valuation bag_d on cost Y

- ~ (c) Warning sign
(d) Rental meth?%. (d) None of the above

*15%
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"(C) Transterable D Development Rtghts-‘
: of the above ‘

@_

84. Settlements with dispersed pattern of

-

development are generally found in
(a) Along Major Roads NS
(b) Along the Rivers
(c) Fertile Plains [El#E
(d) Hilly Regions

85. The Industrial Estates Programme was

86. The term ‘Sending Zone' and ‘R '

initiated in the year

(b) 1950
(c) 1960 (d) 1970

Zones' are associated with
(a) Town Planning Schemes
(b) Gentrification

-

87. The design speed and carriage way

width for different types of road a&
recommended by MOUD. For distributor

roaditis %‘A-
' Design Speed (Kmph) MM
| {a), 30 E%g 12-30 I
(b) 15 [ElDe= ‘ 6-15
(c) 50 30-50
(d) 50 50-80 ,;
88.. A measure which divides an arrayunto four
equal parts is known as <
(a) Quantire : B

(c) Quantile o uamne

‘(d)

89. The author of the book “Garden Cities of

Tomorrow” is

‘- (a) Ebenezer Howard I
arence Stein:

(c) Le-Corbusier
(d) Henry Wright

CALT -1

80. Key benefits of green city

1.

(a) Effective land use
(b) Effective use of resources

[©Eoth @ and ) l .

(d) None of the-above .

According to Lewis Mumford, towns can be
classified into how many categories ?

©) 5
©7 (d 3

92. Eopolis, Polis, Metropolis, Megalopolis,

Tyranopolis and Necropolis are six types of
cities, co:ned by who among the following ?

(®) Jeerson .
(c) Griffith Taylor
(d) Sir Patrick Geddes

93. Which of the basic indicators are not used

for calculating human development index ?
(a) Adult literacy
(b) Health care services ]
er capita income
(d) Life expectancy

94. Which one of the following pairs

(Classification of cuty Example of c1!y) is
most correctly matched ?

(a) Gridiron Cities — Ringstrasse in Vienna
(b) Organic Cities — New York
(c) Ring Cities — Venice

‘Mta ' fies — Arc de mml

95. Average percentage of GDP invested in

*#16%

development of physical Infra-structure of
India annually as per census 2001 varies

between -
(a) 15% to 20% @
(b) > 20%

(c) 10% to 15%
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96. are those, which have already

been collected by some one other than

the mvestngator - himself. These are usually

completed and processed information ut
~ may be relatively less accurate.

(a) Primary Data ElE

(b) Tertiary Data

E) © Seconaary Data I
{(d) None of the above ’
97. As per IRC code 106-1990, design service
volume standards for 2 lane (two way’

arterial road is
" (a) 1400

98. The strength of soil is usual!y identified by
maE

(c) Direct compressive stress

(d) Direct tensile stress

(b) 1900
(d) 1000

99. Which among the followmg criteria is the 3
most important one to locate mdustnes*‘?

(a) Cheaper land value

loser to place of consumptlon of raw
materials B
(d) Adequate water supply

100. Which of the following represents raffies
volume from one key area to another in(a

qgw;

desire line map ?

(a) Triangles (b) Dots

(¢)Circle  § (d) Darkline
101. According to the 2011 census,

approximately what percentage of the
Indian population lives in rural areas

' (a) 69% o o
(c) 71%

CALT -1

102. Various sewage treatment techniques
are adopted in sewage treatment system
to treat waste water to secondary level
as per affluent standards in India. Thgse
technologies are :

(a) Activated Sludge Process (ASP)

(b) Trickling Filters (T.F.)

(d) None oftheabove

103. Lorenz curves explains ‘
 (a) Deviation ofiinéqualiLty from line of
perfect equality
(b) D. Kurtosis or peak of investment
curves
(c) Perfect elasticity of investments
overtime
(d) Perfect distribution of income and

expenditure ElAE
| (et
104. Four sequences of real estate

development are given below. .
Choose the one that is appropriate for

_ slums:
(a) People — Land — House — Services
(b) Land — People — House — Services
(c) Land — Services — People — House

liﬂ 5 Land — Services — House — pebp!e ‘

.

&

105. With a view o enhance mobility, reduce
congestion and promote traffic safety,
the unified traffic and transportation
infrastructure (Planning and Engineering)
centre is set up by
(a) Indian Road Congress

(b) National Highway Authority of indla

~(c) Delhi Development Authority |

(d) National nstitute of Urban Affairs

A -
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106. Which of the following tool facilitates public
authority in the creation of a land bank at
minimal or no cost ? :

(a) Planned Unit Development (PUD) .

- (b) Land pooling

ite and Services Scheme
(d) Land acquisition E4E €53

o [Enet ’

107. As per NBC 2005, Land Area Requirement
for Police Station to serve the population of
90000

(a) 2.00 Hectare

(b) 4.00 Hectare—

108 Non-banklng Organisation HFC staMs#or
(a) Housing Federation of Commerce
providing guidelines for housing market
(b) Housing Finance Company providing
loans following national housing
guidelines
(c) Housing Finance Corporation proulé‘ing
loans without any lendmg limits f‘ J
ousing Finance Company provnduE
loans following RBI dlrect:ves ‘

109. SCADA is an advanced technology used
in several cities. In which of the following
sector does it find its application ?
(a) Transportation planning El#E
(b) GIS and remote sensing Elﬁ

4107

« | () Water supply and sewage management f

P

eating and cooling £
110. Plan formulation using remote sensmﬁ?
and GIS platform have the following
advantages
(a) Benefits of analytical techniques in GIS
platforms
(b) Transfer information to abroad
dc) Ground points and Geo-reference@ata
. base for proposals preparat:ons

) (a) and (C) only

0Oc¢

e

et

3 -
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111. Equivalent Car Space (ECS) for Trucks
and Buses is
(a) 0.25

(c) 0.5

112. Water supply standards indicated by
CPHEEO for metropolitan and mega cities
provided with«piped water supply when

severage system is existing/contemplated

&) OUR (b) 180
(c) 120 (d) 70
113. Methods of economic projections are
described as

(a) Simple extrapolation method
(b) Employment method *
(c) Input-Output method -

114. Which of the following methods of _ _
contouring is most suitable for a hilly
terrain ?

(a) Gross-section method

(b) Tachometric method

-(d) Direct method hﬁ

115. Which state of India pioneered the idea
,of a state level techno-economic suryey
carried out in 1957-1958, with the technical
help of Stanford Research Institute of

California (U.S.A.) ?
. (a) West Bengal (b) Orissa
(c) Bihar (d) Madhya Pradesh

116. HRIDAY stands for

(a) Heritage Development and
+ Augmentation Yojana

(b) Heritage Culture Development and
Augmentation Yojana

(c) Heritage City Design and Augmentation

Yojana ‘

-(d) Heritage Crty Development and
¢ Augmentatlon Yojana
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117. Population range of Medium Town-| as per
URDPFl is
() 1 Lakh -5 Lakh (b) 5 Lakh— 10 Lakh
[ 50000 — 1 Eakn }¢) 25000 - 50000

118. The 73" and 74" Constitutional
Amendments pertain to
a) Providing more responsibilities to
municipal and rural local bodies for
. planning and development
rov"tdingﬁR?ght to Information for the
general people e
(c) Providing restricted role to rural coudris
to settle rural disputes
(d) Abolishing Urban Land Ceiling Ac

119. Who is the author of the book ‘Housing
. Without the Houses’ ? El[El

b) Roger erwood
(c) Tihamir Salji
(d) A. H. Ansari

o

. &
120. Techniques for delineation are to be.
analyzed by the following suggested
techniques for area delineation
(a) Weighted Index Number Method .
(b) Gravitation-Analysis e

(c) Both (a) and (b)

d) None of the above

121. As per URDPFI, Area requirement for
‘Neighbour Park’ to serve population of
15000

(a) 1.2 Ha P

(b) 1.5 Ha

CALT -1

122. Which of the following is known as design
capacity ? [E]H{E]
(a) Practical capacity %
(b) Theoretical capacity
(c) Possible capacity

123. What does ‘Spatial Connectedness’ in GIS
referto ?
" (a) Tomography
) Topology
124. Central Government Scheme aiming at
supporting infrastructure projects that are
economically justified but fall marginally
- short of financial viability is
(a) Value gap financing

b) Stand up India . 4
(c) Viability gap funding
d) Value capture financing

125. As per the United Nations Transforming
our world : The 2030 Agenda, 2015, which
of the following SDG’s directly addresses

- water related issues ?

(b) SDG 14

c) SD (d) SDG 1

(b) Topiary
(d) Topography

e

126. Residential density is normally expressed
in term of
(a) Houses per unit land (D.U./hectare)
(b) Habitable rooms per unit land (rooms/
[ElE -

( () Both (a) and (b) Eﬁ

d) None of the above

=

127. For sports facilities for neighbourhood play
area category in terms of population served
per unit and land area requirements is

Population Served Land Area
per Unit R rement
(a) 1.0 Lakhs 8.00 Hectare




128. The author of the basic planning books
named “Urbanisme” (published in 1924)

and “Laville Radieuss” (published in/1835)

(c) Patrick Geddes
{d) Lewis Mumford

A residential area is Subdivided for three
different types of plots of 500 m?, 350 m?
-and 200 m2 with number of plots in edch
category as 100, 200, 150 respectfvg;g
The net residential density of the amgjgln

129,

DU/hectare) is («‘"‘Q
- (d) 20

130. “Area Based Development” and “Pan City
Development” are part of [EliE ﬁﬂ:
(a) Swachh Bharat Mission [s] S
(b) Atal Innovation Mission <
(c) Digital india Mission z{

E(d) Smart City Mission f |

Which one of the following pairs (SDG —
Goal No.) is most correctly matched ?

131.

(b) Climate Change — Goall5 -
(c) Industry, Innovation and lnfrastru jre —
Goal8 L

W

(d) Clean Water and Sanitation — Goal4

132. Under AMRUT 2.0, Number of Water
bodies to be rejuvenated by ULBs for the
cities with population 10 Lakhs to :;‘E
40 Lakhs, which will be incentivised < -

* @7 (b) 9 *’*f
Cs

CALT -1

133. What is meta data in G.1.S. ?
(a) Oceanic data
(b) Meteorologica! data

(d) Contour data —

134. The Right to Fair Compensation and
‘Transparency in Land Acquisition,
“= = Rehabilitation and Resetilement Act 2013,
extends to whole of India ‘Except’
(a) Manipur
.  (b) Arunachal Pradesh

135. According to Doxiadis, in how many stages
the development of city goes on ?

(b) 6

(d) 3

136. As per IRC 103-2012, the required width of
foot path in commercial/mixed use is=
' - (b) 28 m a

(d) 1.8m

137. Art and science of map making is called
a) Referencing (b) Topography
Aty ) () Hypaoorephy

138. A valve that allows air to escape from or
enter a pipe EHE
(a) Pressure Relief Valve ﬁ
(b) Globe Valve

(c) Air Relief Valve § .
d) Sluice Valve :
139. In a site plan, a rectangular residential plot

measures 150 mm x 40 mm and the width
of the front road in the plan measures

16 mm. Actual width of the road is 4 m. If
the permissible FAR is 1.2, the maximum
built up area for the residential building in
m? will be
(a) 540

b) 400 "

(d) 440

*20%



140. The city which shows further decay in all
fields like trade, commerce, military power
etc. is termed as

(a) Necropolis ‘ (b) Tyranopolis I
(c) Megalopolis opolis '_

Which among the following is the most™.
successful ‘Special Economic Zone' (SEZ)
developed by China ?

(a) Shanton

b) Xiamen

(c) Shenzhen §

unai

142. The term used to indicate the leakage
of sewage from sewer into the ground—~
surrounding the sewer
(a) Infiliration [E4E
(b) Filtration

c) Outfiltration &
_ | (d) Exfiltration |

143. For transportation surveys “Speed and Delay
Studies” are done by following methods

(a) Moving Observer method
(b) Floating Car method

¢) Video Photography method
(d) (a) and (b) onl

144. The area around the city that supplies =~
resources, agricultural produceand ~°
manpower to the city is called

(a) Rimland b) Urban fringe
d) Umland

(c) Lena land

145. The structure of the Greater London Plan
1994 was based on zoning in four nngs;;

they are EdE

(P) The inner ring "ﬁ
(Q) The suburban ring (=1

(R) The middie ring

(S) The greenbelt ring

(T) The outer country ring
(U) The outer ring

(a) (P) (R) (S) (T)

(b) (@) (R) (S) (T)

!cf ?PE iRE fSE f! |

141.
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148. The term conurbation was coined by
(a) Le-Corbusier (b) Ebenezer Howard

(c) Patrick Geddes J(d) Lewis Mumford

147. A group of towns which adjoined one
another so closely as to form a single
inhabited urban locality is called
(a) Megalopolis
(b) Urban sprawl

(c) City

@ Town group

148. Which among the following theories
explains the spacing of urban areas and
their size ?

(a) Myrdal's Theory

(b) The Growth Pole Theory
(c) Rank Size Theory
(d) Central Place Theory

149. The speed used for highway geometric
' design purboses is ELHE
(a) 50™ percentile [
(b) 98" percentile
(c) 85™ percentile
(d) 15™ percentile

150. A uses information,
communication and technology to enhance
its liveability, workability and sustainability.
(a) Green city

(b) Smart city

(c) Sustainable clty

(d) None of the above
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